
    
  , ,       / ,   
       ,        

  ,                 
   ,    ,  ,   ( -  
, , , , ,    -  )–      
 ,                  

1.   ................ 
(a)   (b)  (c)       
(d)   
2.     -    ?
(a)  (b)  (c)  (d) 
3.   ‘     ’-   
    ?
(a)    (b)    (c)   (d)  
4.          
  ? 
(a)   (b)   (c)   (d)  
5.          ?    
(a)  (b)   (c)  (d) 
6.   ................
(a)    (b)    (c)    
(d)   
7.           
         ?
(a)  (b)  (c)  (d) 
8.          3  45  

            

   ?
(a) 2  30  (b) 4  (c) 6  15  (d) 5 
9.         ?
(a)     (b)    (c) 
  (d)   
10.         -
 ?
(a)   (b)   (c)   (d)   
11. -      ?
(a)  (b)  (c)  (d) 
12.         171   
190     209       
      ?
(a)  32 (b) 30 (c) 38 (d) 36

13.         ?
(a)   (b)  (c)  (d) 

14.      30   ?

(a) 40 (b) 32 (c) 120 (d) 30

15.  8-  4, 6-  3, 4-  2 ,  (12-4) +22=?

(a) 16 (b) 17 (c) 15 (d) 18

16.    ?
(a)  (b)  (c)  (d) 
17. : ,  :  ,  :?
(a)  (b)  (c)  (d) 
18.      ?
(a)  (b)  (c)  (d) 

19.        ?
(a)  (b)  (c)  (d) 
20.      (ISC-2018)   
 ? 
(a)  (b)  (c)  (d) 
21.     ,      
?
(a)    (b)     (c) 
  (d)   
22.     ?
(a)  (b)  (c)  (d)   
23. , , , ––    
  ?
(a)  (b)  (c)  (d) 
24.       ?
(a)  (b)  (c) -- (d) 
25. 20         4 : 1  
        5 : 1 ?
(a) 3 (b) 3.5 (c) 4 (d) 4.5

26. Misunderstanding         ?
(a) India (b) sun (c) dear (d) daughter

27.   .................
(a)    (b)    (c)    
(d)   

28. A, B, C      A    , B 

A  C –    84000    B-  ?
(a) Rs 28000 (b) Rs 14000 (c) Rs 42000 (d) Rs 35000

29.      ?
(a)  (b)  (c)  (d) 
30.       
?
(a) Diode (b) Triode Vacuum Tubes (c) Vacuum Tubes 

(d) Bipolar Transistors 

31. -        ?
(a)  (b)  (c)   (d)  

32. ‘’   ?
(a) Mass (b) Length (c) Velocity (d) Frequency 

33.         ?
(a)  (b)  (c)  (d) 
34.   ............
(a)   (b)   (c)    
(d)  
35. -       
 ?
(a)  (b)  (c)  (d)  
36.  SET=321 , NET=521  TET    ?
(a) 121 (b) 322 (c) 232 (d) 424



37.        ?
(a)  (b)  (c)  (d) 
38.        -  
?
(a)  (b)  (c)  (d)  
39.         ?
(a)   (b)   (c)   (d)   
40.            ?
(a)   (b)  (c)  (d) 
41.       ?
(a) Building a digital world consumers can trust (b) Making Digital Mar-

ketplaces Fairer (c) Antibiotics off the menu (d) Consumer Justice Now! 

42.          ?
(a)  (b)    (c)  (d) 
43.         ?
(a)      (b)   (c)  (AYUSH) 

(d)   
44.         ?
(a)   (b)   (c)   (d)  
45.     ‘’ (Scheme Ujwal DISCOM As-

surance Yojana)   ? 
(a)  (b)  (c)     
(d)   
46.        (FINE)

    ?
(a)  () (b)  () (c)  ( )
(d)   
47. ‘  ’-   -  
 ?
(a)  (b)  (c)   (d) 
48. : : : ?–     (?)-  
 ?
(a)  (b)  (c)  (d) 
49.     ‘ ’    ? 
(a)  (b)  (c)  (d) 
50.       ?
(a)  (b)  (c)  (d) 

ANSWERS

1. (b) 2. (c) 3. (d) 4. (b) 5. (b) 6. (b) 7. (b) 8. (d) : (d)  
       = 3  45 
 
       2  30  
        (3  45  –
2  30 ) = 1  15    
      3  45   ,  
         (3  45  + 1

 15 ) = 5    5       
    
9. (a) 10. (c) 11. (c) 12. (b) :      
       
171)190(1                       19)209(11

171   19
19 )171(9                      19

171     19

∴   19

∴    19kg       

∴    (171 + 190 + 209) kg. = 570 kg

∴    (570 ÷ 19)  = 30

13. (b) 14. (a) : (a)    x

 x-  = x ×
= 

∴

⇒ ⇒

⇒ 3x = 30×4

∴ x =

15. (c) :          
12, 22  4 -       
16. (d) 17. (a) :   ,     
       
18. (d) 19. (a) 20. (b) 21. (a) 22. (a) 23. (b) : , ,
,   , ,    
    
24. (a) 25. (c) : (c)   20 
  -   = (4 + 1) = 5

  =    = 

∴ -  = = 16 lits.

-  = = 4 lits
.

    5 : 1.  20 : 4     20 
∴    (20 – 16) = 4 
26. (d) 27. (c) 28. (c) : (c)  :     =

x 

 A-  = Rs
.

∴ B-  = (A + C)-  
, 2(B- ) = (A + B + C)-   = x 

, B-  = 

∴ C-  = x – = Rs

∴A : B : C = = 2 : 3 : 1.

( 6     3, 2  6 –  = 6)

∴A-   = 84000× = 28000.

B-   = 84000 × = 42000

C-   = 84000× = 14000.

29. (c) 30. (b) 31. (c) 32. (b) 33. (a) 34. (b) 35. (d) 36.  (a)   
  T=1, E=2. 37. (b) 38. (a) 39. (a) 40. (b) 41. (b) 42. (c) 43.

(c) 44. (b) 45. (a) 46. (d) 47. (c) 48.  (c) :    
  ,     ,     
    
49. (a) 50. (b) 


